0000000 3002010/04/2200000

Jogd HRN

[1] 500 {1,2,3,4,5}000
/(12345 (12345 (12
7 \43521) "T"\32451) P21
1 2
DDDDDDDD(DD)DDDDDDDDDDDDDDD(>DDDDDDDD
) UOT:(l 2 3 4 5)

(i) (aoT)Op:(l 23 4 5)

(iid) go(Top):(l 2.3 4 5)

2 00O0ODOOOO0D (=0000000000000000)0000000000000
0o (1 ? |)oopooDoODO0D0000000000000000

0 (43849)=0
o (13319)=0
w (1131380)-0

(3 0000000000000 000000 (1 2 |)000000oo

(i) (123)0(345)=(1
(i) (12345)0(567) =(1
(iii) (12345)0(14523) =(1

[4 (00D (1),i)000)0000 (12---2)00000000000000
(12---r—=17)o(rr+1---n—17)000000000000(=00000)

(00Ooon)



